Algebra | Chapter 10 Review Name

Find the necessary information and graph.
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Solve the equation by finding square roots. Round the solutions to the nearest hundredth, if necessary.
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Solve the equation by completing the square. Round your answer to the nearest hundredth, if necessary.
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Tell whether the equation has two solutions, one solution, or, no solution. Hint: b* — 4ac

9. 10x2—8x+1=0 10. —4x*+9 =0 11. 3x2—-9x+8 =0
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Use the quadratic formula to solve the equation. Round the solutions to the nearest hundredth, if necessary.
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12. p* +8p-15=0 13. 2y - 7y =10 = ( 14. 9z° +12z+4 =0
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15. For the period 1997-2003, the number of eggs y (in billions) produced in the United States can be

modeled by the function y = -—mxz +3.3x + 77 where x is the number of years since 1997,
Approximate the year in which 36-billion eggs were produced.
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